——\-“"\

-ll A CCD v
‘\'. "Fl':l-..li_rrﬂll'u_' t.r_-l E l;J‘ItI.l.:I'IE' |J'|I:|||'| I

Corpo ations, the biggest ¢ 15t of 500 ¢ MPanies s BESO -39
2019 wWas BalS5 _::un"u|:u¢!|"|*..f,f(_f_=r[m: ation jn 3 s'-'1_-i { . .
: 5 : _ e R L L T =
(a) Indian o Corporation Ltd <009 0 ey wd e L G
(b} Qil and N = Fat e s’ Righ | B
) Reliz atural Gas “OMmMmission ] STEIR S iy S
b [;l'hdr-l{.{_-,_ |l-1|:.il]'j|-tt||:i<1 IIT':-_.I - |_Ir3] = LEE '“._i. :-__I---' 2 - 1=
(d) State Bank of India \€) Tremag a:r _JI o
- _ (d) =27 T -y s
I o RE | a W T, fi:|-1i'. :\.:1“'”'“'-:
ar rﬂd{:‘ﬁh 15 1'_:||_u|t on ‘-"'-'l"lir_‘.h of the [GHGWLH i 10. T Yo o TR dre HIT 5l oy Pyt i
(a) Matatila Dam ) Rajgh WINE damis qY w7 R - Gl - BT
: ajghat gk
(c) Dhanraul Dam > B \a) FrizeT =i

(d) Rihand Dam
11 Which one of the following
's leading producer of ora

(a8) Farukhabad
(c) Saharanpur

nge ?

(b) Lakhimpur
(d) Balrampur

12. In ﬂhich of the following cities of U.P, the Indian
Institute of Pulses Research is situated 7
(a) Lucknow ) Varanasi
(€) Kanpur (d) Meerut
13. Match List — | with List — |l and select the correct
answer from the codes given below the lists :
Lis_t - | List - 11
(Institute) (Location)
A. V. V. Giri National Labour 1. Varanasi
Institute
B. Indian Institute of 2. Mathura
Vegetable Research
C. Pandit Deen Dayal 3. Ghazipur
Upadhyaya Pasu Chikitsa
Vishwavidyalaya
D. Regional Rail Training Institute 4. Noida
Codes :
B C D
' { 1 2 3 4
(), s D 2o !
(€) Plngl s 52wt
d 2 T4 3

14. Consider the following statements which are in

ds to Uttar Pradesh :
T EEII{ is largest milk producer State in the country.

. # w ] - # th
imum potato is cultivated init in the coun

%: r;l E;:SE majcﬁ' producer of sugar cane in the

4.

untry. _»
i:tnhas ?Lird position in paddy production in the

country. : |
Select the correct answer from the codes given below :

Codes : (b) 1,2 and 3

districts of Uttar Pradesh 11

(b} T =iy

g ._f'[»:q 21T [ : \
lc) w= e w1y \a) &= 1y

ST W = E-'Tt-'-llll-:-i‘l',—i'g,_rli A 8 - T [y e — it
e S v T, =) HE S
JaEH B 7 o

\a) FeEEE

\D) TR
(c) HEw :

\d) =g
— . ._ TR C - — = .

12. __E.TTT. U W HEetEn e w e vl TR

AU W B 2 o

(2} AEaE (b) =mowh

\C) YR (d) w3

13. Hel - | o= - 1A e i sin i F 99
ﬁﬁﬂﬁﬁﬁﬂﬁﬁﬁﬂqm:
- | T - 1l
(Feam) (wafeafa)
A, @t PRt o oo wem 1, e
B. WA Hesll YA H84H 2. wgu

C. 9. 41 4 IMeAH 9y 3. TN
fafer foafaarea

D. &fia ie whtnem deam 4. =

e .
A B C D

(a) 1 2 3 4

(il e amei Zach it

() ~&: cnilp ~wiZuy 8

@ 2 4 3 1

14, FCwem w R A i s w e St
1. 7e & ¥ waifuw g FeqEE T R

2. it 2 s e e
3. 7 391 1 T T I TR
a. g 3 Fere i 2w o geeh e o e |

(a) 1,2and 4 (d) 1and 2only

d4
[9&, 3an P

e 33
(a) 1,237 4 IR
() 2,3 3h4 (d) e 132




16

17.

18.

19.

Bible Book of North Indian classical Music is related to
\2) Natyashastra (D) Sursagan

(€) Nad-Vinad

{d} Sufinama

J-L:-H-:!'.,mnﬁ are two statements, one s labelled as
Assertion (A) and other as Reason (R)
Assertion (A) - Untouchability s wors
structural violence

Reason (R) : |ir1T':_'ll_J['|"|,'il}|EIt"!,-f has be
the name of religious sanctions
Consider the above statements and select the
correct answer from the codes given
Codes :

(a) Both (A) and (R) are true angd '
| R)is -
explanation of (A) ¥ seect

(b) Both (A) and (R) are trye but
Correct explanation of (A)
{c]\-{z} Is true byt (R) is false

(d) (A)is false but (R) is trye

Torm of

€N practiced in

below -

(R) is not the

;ullmv_lng are two statements, gne i labelled 35
ssertion (A) and other as Reason (R):

Assertion (A) : Rural

Population does not consider
Oopen defecation as

a threat to their well being.

Consider the above statements and select the

torrect answer from the codes given below

Codes :

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

{c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which one of the following is NOT among of those
four Refurbished Heritage Buildings in Kolkata that
were dedicated to the nation in January, 2020 ?

(a) Old Currency Building
(b) The Metcalfe House
(c) Victoria Memorial Hall
(d) Writer’s Building

As per the World Health Organisation, which one of the
following countries was effected by biggest out-break
of measles in the world during January 2020 ?

(a) Benin
(b) Senegal

15, =l vl i o

L& ]-T.._:!i _'.'I-l-r:’,--r__ | Thela ‘_'-'._ [Zf:ﬂ' - :
“hiom (R} R Ty E“_ L W ?
i [..E'.,].-, BT A rge B =

U B s = --?-'._,Fi
‘{l'll].l]l {R} s
REALE I o o) B S IR Fo 93 &

e b TR 1SH T3 — =

ST J9q Hifsm.

NI & Ty =

E oA
(@) (A) 3 \R) 241 o1 £ ady (o -
I i1 Heg 2 .FIJIT B Ay = . =
) \R), (A) i a4 S
(b) (A) 3in (R) TH1 w1y & T (R), (A) $ 58 =y
Tel war 2 |

(€) (A) & % wg (R) rrerer &
(d) (A) et B wty (R) ey &

17 ettt 3w &, N8 A 0% e () e <o
KT (R) % &

U (A) : ariio SgEa g+ | It AT, W =T

%ﬁqﬂﬁﬁﬂ?ﬁmﬁl

W{R}ﬂfﬁﬂmﬂ?mﬁmﬁ‘ﬁwﬁm-m@ﬁ

Wﬁﬁﬁﬁmﬁ?ﬁmﬁﬁmﬁ%ﬁ%

Eﬁﬁmqf‘ﬂnﬁﬁqmﬁéﬁﬁﬁ@ﬁﬂﬁ

I F =G HFifam -

L T

(a) (A) 3 (R) 21 wreat & 3t (R), (A) $ =8t sawen

(b)AA) 3K (R) i & & v (R), (A) ) 5t v
el & 2

(c) (A)&e 2 T (R) 3o 2

(d) (A) 378 2 93 (R) &1 &

18. F=fafias & § S¥q-m Wm?ﬁaqmﬁr-ﬁq_m
ﬁmﬂﬂﬁﬂﬂﬁﬂ!&ﬂ?ﬁ%.hﬂiﬁﬁﬂ.lﬂlﬂﬁﬂ’i
=1 aufda fm w7
(a) e St fafeen
(b) g WeHIE w3
(c) it Iifas v
(d) Tged fafeen

19, Tova Tame TS & IEER SHaEl 2020 B Reffes #2
HA-T 20 R o Tul F gan s ven 8 wiE
(a) &

(b) e

(c) Democratic Republic of Congo
(d) Nicaragua




28.

29.

30.

31.

32.

: N 1Ii.:
L9 o
Match st | wi
— 1 with List — | and select
answ?‘ from the codes given helgﬁih;hﬁsgsﬂ-rmﬂ
s5t—| i -
List — ||
IEEiﬂgndEJ (Continents)
B, St 1. North America
; Eppes 2. Africa
g- ‘ETTIHES 3. Europe
Cnﬁesf d 4. South America
a) A B C D
d) . 4 3 3 2
&2 3 4
fc) 4 E 2 1
(d) 4 1 3 2
Match List = | with List — Il and se|
ect
answer from the codes given below thtehl'izsgfrer:t
List = | List - 1|
(Tribes) (Area)
A. Khirghiz 1. Japan
B. Bushman 2. Argb
C. Alnu 3. Central Asia
D. Badduin 4. Kalahari
Codes :
A B C D
(a) 3 1 4 2
(b) 2 3 4 1
(c) 3 4 1 2
(d) 1 7 3 4

Which one of the following is largest li nite coal
field in India ? < . . i

(a) Singrauli
(c) Karanpura

(b) Makum
(d) Neyveli

Which of the following rivers of India is NOT a
tributary of Damodar River ?

(a) Barakar (b) Indrawati

(c) Jamunia (d) Barki

Which of the following is NOT correctly matched ?
(Canal Project) (Location)

(a) Ghatprabha Canal Project — Karnataka

(b) Ukai Canal Project — Qujarat

(c) Nira Canal Project -~ Maharashtra

(d) Jawai Project ~ Tamil Nadu

Which one of the following statements is true 7
(a) Odisha is the largest producer of Chromite in

India. : _
(b) Karnataka is the largest producer of Silver in

India. .
(c) Andhra Pradesh has largest reserve of Bauxite

n India.
(d) :Ddisha has largest reserve of Manganese in India.

-6-

27,

28,

29,

30.

31.

32.
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HﬁTﬂa%rEﬁﬁ—lli;gﬁﬁﬁﬁiﬁﬁm#nﬁaaﬁ;ﬁ#ﬁ
ﬁ’ﬂ_@@{ﬂﬂﬁﬁ?ﬁﬂﬁqﬁm,: “

e~ | T~ ||
(98 % ) (FEg)
A. AHS 1. 90 i
B. ®iw E.Tﬁm
C. Vi 3, @
D. 978 4%%
&2
A A C D
(a) 4 3 1 2
(b) 2 3 4 1
) 4 3 2 1
(d) 4 1 3 2
Tl — | Y — 1'% gt B 7 it
ﬁqn‘dﬁﬁ‘ﬁﬁﬁ"ﬂmﬁﬁﬁl‘q: SHEA
T - | - |
(SrTT) (#9)
A. farfm 1, S9M
B. Tyl 2, 3
C. T 3. Aey ufim
D. wgg. 4. TR
L
A B C D
(a) 3 1 i 2
b) 2 3 4 1
'3 @4 1 2
@ 2 2 3 &

wr 1 Preffen Tt § @ B e @ @
HET® T8 R 7

(a) W (b) Fradt

(c) smf¥ar (d) wrer

Preferfian # @S- wd gk T@ 2 2

(& afdirn) (srafeufa)
(a) wewur FEe i -  wAEH
(b) IME TET TR - T
(c) o == wfEs -  HEWR
(d) w&amg gfwEsE o L

FefefEadd sh-mrsmad 2 7

(a) WId # IfEwn U=y Mg F TEY 927 INEE R |
(b) ¥Ta H HAteeh FTE F1 FegaH IeITesh U ¢ |

(c) WRE ¥ 3Py weu ¥ wiaarse = gad 79 Ven B |

(d) W ® FifEn # Frefier 1 T a9 WER R |




cngS‘
(a) Boy ' 1A T 2 ¥ v
A : B =TT .
r\/cC}o::,e((:t ) and (R).are true and (R) iS the E (A | Eﬁﬁ%‘fq .
(b) Bott (A)explanat‘lon of (A) EF{)?;E (R) 21 w17 ¥ 3y R), (A) 6t
L and (R) are true but (R) is not the (b) | ST
(C) (A) _ EXDlanatIOﬂ of (A) (A) 3?'.{ (R]?fFfT L[] 'E t;r..@ (R) (A)
(d) (A) !S true but (R) IS false TR AT % \A) =t T ST
& Is false but (R) is true ((;; Ei{ S [ %%tr{ﬁ (R) TTera 2
- The pgJ; T4 & 7 (R) wew &
annou:(!:dbeepo Rate and Reverse Repo Rate 93. Wt frore 3
2019 were rg;;?cetlr:ZIBank otindia on December s, . o quT ﬁﬁﬁa}?ﬁ; b Sﬁy&m, 2019 %1 =g Hfy 1)
(a) 6% and s 759 Y ; X SHHTT:
3 0 b 5. ° ) uﬂ 0 4
O5iumiab ) pmessn | DT b sumsin

() 5.15% U4 4.9% (d) 5.75%wg 5.59%

94 Conci

. nsider the followin state '

_ ments with respe :

;?1 Consumer Price Ingex and select the corae?c 7
swer from the codes given below :

L.t COmputes price chan |
services P ges in both goods and

2. Itis computed by the Office of Economic

Advisor (OEA), Department of Industri |
and Promorio)n. : P ol

3. Itis taken as the measure of inflation while
) ;ormulatmg Monetary Policy by RBI.
odes :

(a) 1and 2 (b) 2and 3
(c) 1and 3 (d) Only1

95. The biggest centre of Software and Business 95.
Process Outsourcing Industries is established in
U.P. at which of the following cities ?

(a) Meerut (b) Kanpur
(c) Varanasi (d) Noida

96. In which of the following regions of U.P,, Anna | 96. 3IW Wew  fr=faftaa &1 § & fpad a=n v 39
Pratha is curse for its agriculture and forestry 43 % H wd A & fopm % fog afm 2 7
development ?
(a) East U.P.

(b) Bundelkhand region of U.P.
(c) Central U.P.
(d) Western U.P.

97.  Which of the following is NOT correctly matched ? | 97.
(District) (Popular Product) -
(a) Kannauj ~ Perfun_we
(b) Buland Shahar — Ceramic
Mﬁhitrakoot ~  Wooden toys
(d) Pratapgarh ~  Guava Jelly j
' ' d Bhuiya scheduled tribes aré | 8.
i r?igaaigils;afnigit)gi?a?\‘t‘s in which of following districts
Uttar Pradesh ?
Faf) Ambedkar Nagar {g {:ll?tlg:n r
(c) Sonbhadra VS

\ y{"_"' '




"N
LS

L ]
W .

BEsq

1y
1 l\::Vhlr:h of the following two rulers fought the 1. Tr=afafaa o @ e @ st % gy 17
attle near Kannauj on 17th May, 1540 ? FHS o 9T g B3I 7 , 154“?\
(a) Humayun and Sultan Mohammad Nuhani (a) B9 U HedH HigHe e
(bljéhershah and Humayun (b) I 3ME Ud E‘Cﬂi E
(c) Shershah and Mirza Kamran (c) TR vE et e
(d) Mohammad Shah and Humayun (d) HiewTg T U T
2 ' . ‘ U & HETeHT 7y
Ry I SN e the maorcavee o | 2 Pt 3.3 ot o 1
(ba‘; Tﬂahatma GandFi ?Deratlon movement in STHEANT ainfcﬁ?r—[ &l TuE o o q1 ?
in ?)SI‘ES?anthe leaders were arrested and were (a) tferemTar o T %3k 3 3 A
((E; Egt‘éiféaﬁgiesd to fulfil the demand of the party (BJFHE ST e it ¥
(d)ﬂovement €€ any chance of success of the (c) 3% 3T Al mﬁiﬁémmqgmq@
€ chaurij Chaura yj - H femn
- | Olence (d) - E‘Eﬁ

a (a) ST BEATE (b) 9. T
(€) Barkaty|ap, f;’j Ef;ﬁ{;ﬁf"%’;‘;&a (c) THd-IeeT (d) érm

4.  Which of the following is NOT correctly matched ? 4. frafafa d @ -1 grfea T8 & 7

(Revolts) (Years) (freR) (=)

(a) Neel Rebellion 1859 - 60 (a) frar farg 1859 - 60
(b) Jaintiya Rebellion 1860 — 63 (b) srf=rn fagre 1860 - 63
() Kuki Rebellion 1860 — 90 (c) T fagi= 1860 - 90
(d) Kuka Revolt 1832 - 34 | (d) Fa fg= 1832 -134

5. Who among the following lead id, “ ' | 1 8 T “B A T 2
| Indian Tom-Tom. b g€ leaders said, “l am an 5. Fr=feitga Jasiiw <ol @Wmﬁ\,

Sle?ﬁerf SodE,h-ft they may wake and work for their TR Rl Hd Eqﬁ e MW%W
motinerian '

ST 3R HRRA B G ? :
- (aYBal Gangadhar Tilak (b) Mahatma Gandhi (a) o/t "R Rt (b) e i
(c) Sarojini Naidu (d) Annie Besant (c) Tl g (d) =it sz
s

Which of the following nutrient is necessary for 6. T=fctiigd o @ wH-a1 Wvs T ot wuat 3 it

‘Nodule Formation’ in legumes ? TS & foT St R 7 _
(@) Nitrogen (b) Silicon (a) ATZAISH (b) Riferia {
()Boron  (d) None of the above (c) SWH (d) ST | | HE T

"'-
‘ A il

B

' much a*rni Hurea will be required for 7 1ﬁa._cﬁ'§lm TA9H =l Igfd & fere forat gfen < W

i 4 1. S Siegl e '
ing 1 kg of nitrogen ? : $ EaFHar gt ?
="‘ A xl- —,' ¢ - .

) 2.2kg (a) 2.0 fwm (b) 2.2 fm
(d) 2.7kg = e (el 25 e (d) 2.7 f®m
et ] S
e lime: i ; 1. I3 1 TE W GUW 1 HHAT R |
2. 7@ R pH oW o A SR R |
-

39 ot § um i wwa IR 0w R |




21, InJanuan.r 2020, Mmi
A » Michelle Obama wae
N | Was conferred wi
l:all_d;'ll'ﬂv ﬂwdrd for which of the fc:lll:-wmﬁ ;ﬂbu:::
{ eclc:rnmg (b} tast Chris;tr-na':‘. |
€} White Rose (d) The River
22.  Which of the fnlluwing Is NOT correctly matched s
Perthe World Economic Fory m's release of Global
Talent Competitive Index, 2020 ?
[Cnuntr'-,r] (Rank)
(a) Switzerland 1
(b) Singapore 3
(c) India 72
(d) USA. 4
23.

24,

25.

26.

{bwigeria
(CM South Africa

(d) Zimbabwe

Consider the following statements about a 13 years
old girl, Suchetha Satish who won ‘100 Global Child
Prodigy Award’ on 3 january, 2020 at Delhi :

1. She lives in Dubai (U.AE.).
2. She can sing in 120 languages.
Of the above, the correct statement/s is/are :
(a) 1 only
)2 only
(c) Both 1and 2
(d) Neither 1 nor 2

COP-26 inthe year 2020 is scheduled to take place at
which of the following cities ?

(a) Glasgow (b) Madrid

(c) Frankfurt (d) Helsinki

A two-day Workshop-cum-Exhibitionon “Bamboo-A
Wonder Grass” was held on January 11-12, 2020 at
which of the following cities of India ?

(a) Agartala (b)/Guwahati

(c) Jammu (d) Imphal

' iian is situated along
ital city of Azerbaijan s s
E:e-kl:::;:; zﬂ:t}?ichﬁgne of the following seas ?

(a) Black Sea {:} ;e{:?rsv;i:e Sea
(c) Caspian Sea (d)

20,

22,

23,

24,

26.

E vy et 4 & frm

1 .‘a.ﬁqnﬂhﬂ f-':EJT.r T 9
(b) =z frams
(c) &z i {d]:j :Tm -
ﬁ?aiﬂﬁﬁmﬁaﬂﬂﬂﬁ%ﬁﬂm?ﬁm?ﬁm@m
: - T 97 1
zﬂzumaqnnﬁtf%fﬁaaﬁﬁﬂq-mﬁﬁfm?ﬁi?
(Zm) (=)
(a) FEaeoraivs 1
(b) 3
(c) wmm 12
(d) 383, 4
A T, 2020 # et § 100 e e B
31E’ Sffey arch 13 317 et o Wt ¥ wed
At el o foram Hifto

2. 98 120 913 & T M v 2

3T § | uh w28

(a) &ae 1

(b) %aet 2

(c) 1 3 2 2Fi

(d) 3@ 1782

#1 2020 % F19-26 F G Freafefen wed § @
fapes yeafaa 2 7

(a) (b) gz

(c) Samd (d) Fafehi

it g e farea o o - sk -wE -
poic ] 11-??33&, 2020 %1 9 & Feiferfea 4 & fe
FH e & ow df 7

(a) I (b) TFmeRt

(c) (d) ¥ g
s 1 e arg, Pt 3 & e
gk e R 7 P

(a) T W (b) T iR
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33. Thrf- '‘TONn-ore reserves of India are assaciated with ,
which of the following rock systems ? l 33 R ml_a"’ﬁ“:—'ﬂ'ﬂ'rﬁ HER Tty 3 S
[al Dharwar “:I} {:uddappah H miﬂltm i . -I'T"! a.'{.q:F_
(€) Vindhyan (d) Gondwana {ta}] ﬁqx \b) Feoq
C =i :
\d) Tromam;
34. Selva forests are characteri - _
) Brosd it Evergre;nenmd by 34, Hemn =+t oy o 2
(b) Broad leaf deciduous {E} % q;ﬁ
(c) Coniferous evergreen {[c:; ??;T“;m;
(d) Coniferous deciduous (d) ey qH::F
33.  Inwhich of the following cities, the ‘Centre for Social 35. ‘At Ty - Tatay et
Forestry and Eco-Rehabilitation’ IS located in In;.:?' \ Frafafes 8 n m&ﬂ? il weg UHE
(a Dehradun (b) Pra'l,ragraj (a) . oA Agfem T
(c) Nagpur (d) Bhopal st (b) =
\€) I (d) s

36. The ‘Environmental Protection Act’ in India was 36. WA 1 ‘gyigm &l whafiny -
€nacted in which of the following years ? " | 'am En? mﬁﬁ%ﬂaﬁ
(a) 4880 A.D. (b) 1986 A.D. (a) 1980 % (b) 1986
(c) 1992 A.D. (d) 1994 A.D. (c) 1992% (d) 1994%

37. Which one of the following is arranged in correct 37. 2011 6 SR TR Frafafis
descending order in terms of population density THHE T h 3 T H B
as per 2011 census ? R 4 3= Hﬁﬂﬁmﬂm@ﬂg?
(a) West Bengal, Bihar, Kerala, Uttar Pradesh (a) T, 19w, ¥, s e
(BY/Bihar, Uttar Pradesh, West Bengal, Kerala (b) Taew, 3 s, s T, |
(€) West Bengal, Uttar Pradesh, Bihar, Kerala (<) e e, s s, foren,

(d) Bihar, West Bengal, Kerala, Uttar Pradesh (d) fazm, i} i’““ﬁ, T, T W
38. Match List — | with List — Il and select the correct | 33 T - @ el — || 3y yuifem Hifyu
answer from the codes given below the lists : I T H 4
List — | List — I &&"ﬁ?ﬂ“ﬁmﬂ?ﬂ%:
(Phenomenon) (Compounds) Tt~ | Tt - 1)
A. Acid rain 1. Chlorofluoro (er2) ()
carbon =
B. Photochemical smog 2. Carbon monoxide A ST ] 1. TR
C. Combination 3. Sulphur dioxide B. SMI-THRTS Yy 2. FEA AR
with haemoglobin C. FHrelfes & wrg S 3. meew ST
D. Depletion of 4. Unsaturated D. 3 9 F1 &y 4. FEID FEEHE
ozone layer hydrocarbons
Cod =
odes : A B C D
A B g E (a) 1 2 3 4
(a) 1 2 (B) 3, 2 Ry
CERE: - @3 & 204
(c) 3 4 (d) 1 3 2 4
(s ToREE LR N
‘ iza’ i mbiotic association between 39. b
39, ycorrhiza® is a sy (a) St it vt ¥ we
a) Algae and plants (b) S 3R Faw F W=
(b) Algae and fungi (c) e 3 et F 7w o
(c) Fungiand plants (d) et e et S

(d) Blue green algae and fungi
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& :ﬁh' Of the followi A A =N 5
t:' l:lil'r:‘ns:e? i e DT Correct about 40. faafn & "”;' PR 1? If-l:n_qm i Jﬁgﬂ X
vitami -\ e et s gesiEl g A 5
(b) ntestinal milgrsmf:agahe synthesised by (3) ?{*‘-'1 x »
om : nisms I T RS | L)
(&) Some Vitarhing sct a5 harimones sl el
(d) Vitami AMINs are stored in body (c) %o faafte TR | 5= 2
41 MiN K is a water soluble vitamin (d) feifiF ‘K’ et W gErTE ey @
. Ar‘ne _ I
W atasurEd temperature in Fahrenhelt scaleis200°F. | 41, wiGTarse T0H 90 99 200°F R | s oy dfegay
(a) 9 Will be its value in Celsius scale ? YT S = ? |
Qf‘ (c) gla g (b) 40°C (a) 93.3°C (b) 40°C
: (= (d) 30°C (c) 99°C (d) 30°C
42, : ! : o ol s
:‘datch List — | with List — Il and select the correct | 42. HE — | 1 #= — | § Frfea Fifda aen wf 3 49
nswer fr::um the codes given below the lists : fed ™ Fe | v I w1 "y Hhifu .
FS List — | List = Il Tt -1
&y A. Abolition of Titles 1. Article 29 N it v qt -1
3 B. Freedom to Manage 2. Article 21A e i 1. ey 29
Religious Affairs _ 8. _I'”l]ia_i TSI S ﬁ =AM 2. IS 21%
C. Protection of 3. Article 18 C. HTIHEIH! &1 WET * Him 3 3;3;@-3 18
Language of Minorities D. then =1 sfgsn a. 3=z 26
D. Right to Education 4. Article 26 %z
Codes : '
A i C D A B € b
(a) 3 2 1 4 (a) 3 2 1 4
(b) 4 3 2 1 (b) 4 3 2 1
(c) 2 3 4 1 (c) 2 3 4 1
{.:3,1/3 4 1 2 (d) 3 4 1 2

43. Which of the following statements regarding the 74™ | 43. YRdE gfEaum F 743 g9ive & 5y ° Peffes §

Amendment to the Constitution of India are correct ? H ®H-H %y T4 8 7
1. :Lgrggiﬁﬁzrsemnn of a new Schedule to 1. 7z SRvm o v s S =k
2. It restructures the working of the 2. AR FRAAHISA ﬁ E’q‘ﬁm %l FFREHT T R |
Municipalities. 3. #& Amurawst # afgensl § oo smaw =
3. It provides the reservation of seats for ITEY FHEAT B |
women in Municipalities. 4. 7 Faw Fo fFfee veat § @ wea |
4. It is applicable only to some specified States. |
Select the correct answer from the codes given :ﬁ%_ﬁﬁ T R HE I H TR A ¢
below : %2
: (a) 1,23 3+A 2
m’z and 3 are correct (b) 1,23 45d %
(b) 1, 2 and 4 are correct
(c) 1, 3 and 4 are correct \c)jd; jﬁl; 48 3
(d) 2, 3 and 4 are correct (d) 2,33 45# &
a4 Which of the following is empowered to make law | 44. i@ H Frferfa o # fordy ot SR sreue! & @~
for economic and social planning besides the infants a9 e s amfae Femst % T fafa-fei
and minors in India ? 1 wifeaal yed 8 7
(a) Only the Central Government (a) FaE ey TEHT B
(b) Only the State Governments (b) *ad T4 HERRI I
the Central and State Governments (¢) &= UF T=T ST LHRT 6l % @
(d) Only the Local Governments (d) ae =g |G Elw:{ 5 Y 2 ‘
.} ') 5"' 5-" 8 f
a 'B“ 1 1 y 2' ’ i F{L" -
{ < ¥
£ RV ¥ f
2
' N




46.

47,

48,

49,

Match List - ' witi l
L 5 | :
ANSwea, from the I":Illll,.j:r- | ang =€
Uﬂtmt - *? BIVDE
iSuhjEEl’S}
(Relatagy
A ¢ "Heles of Indian
: frfl f[}‘}lt r rt"_.;]{'q'_fl Ul"l‘itil_uh'c}n}
A ]_f_}rrmtwr National |ay rticle
f(? lmw cnrrnm:ﬁi{:n . lﬂ“”
c J |"u"|l'|ll' K'E!'rﬂl.ll'f_”;-. '&i'h[h? 51 ( ]
To dl;?*uft-_iﬂp} Spirit of 3 .
INQuiry an reform Article 50
D. Eﬂ Separate Iudiciar Artic|
mr‘n_ the eXecutive In Sie 51 Alg)
Public Service of the State
Codes :
A B ¢ D
(3) 1 3 3 4
(b) 2 4 1 3
) 4 3 5 1
(d) 3 1 4 2

4-’ 1[]! ?.r Bzr 244* ?‘SD
(a) 14 (b) 24

(c) 28 (d) 77

A Is the brother of B, B
Cisthe husband of p andE |
D Is related to F as
(a) Daughter

(c) Sister-in-law

IS the brother of G
s the father of A, then

(b Daughter-in-law
(d) Sister

If in a certain code DECEMBER is written as
ERMBCEDE, then which of the following month
would be written for ERMBVENO ?

(a) AUGUST (b) SEPTEMBER
(c) OCTOBER (d}, MOVEMBER

If “All social-reformers are humanists” is true, which

one of the following proposition is true ?

(a) Some non-humanists are social- refnrrr}ers

(b) Some social-reformers are non-humanists
Some humanists are social-reformers |

(d) No non-social-reformers are non-humanists

?
- n the following series, what would be the value of X :
1,1, 2, 3'5,8, X,21

o1,

pe_c

(b) 13
12
Ei; 14 (d) 15

' f
Which of the following was thEI;Ttai:Jnri:]lETifﬁ
Raisina Dialogue which was he

o) Flus ?.[:}r%t{:I ?rships.
Fluid Partne |
[{;]} Multilateralism and multipolarity

(c) Navigating the Alpha Century

e
(d) None of the abov PL

% 42
» (o
!

En%(ﬂ\ Y
e

_\__,_-—_'_'_
=

46.

47,

48.

49,

0.

51,

Elrj.
4':['{.‘;1 |
() 'y
.LI _
/ & 4'."1'14: A _'1
Y FT Iy AT
L "F.'I""n.' :"'-.; '
HIeT wran . % il ._-ﬂ J_ “{'T-'.ts.-a_l
1} Moy WY e : .
BTyt LAt o RE By : ")
I:-‘. -;”-—'I.'I :]i"i :.“q' :I'ill.lir 51.1 1 i I iy g
'i[i_r'_]'.ﬂ T f*‘.hq S 4 I e o g
D T] ',-'J'.] -4*-.T '._;[]‘.‘_i.;;_]lr_”.:llr y
= T ; SR 1
R 11 5 5 AT ey E531% tw)
H U9 o

(b) =z %
(c) 75 = (d) 7 =
afe it At w4 DECEMBER %1 ERMBCEDE
ferea e 2, dl Frfefiaa om 8 2 Ay ERMBVENO
& ¥ H forar s 7
(a) AUGUST (b) SEPTEMBER

(c) OCTOBER (d) NOVEMBER

afe, “edt FeTA- U AT 3w b, @ Beffe
AT B B 81 v w7 '

(a) 9 FHHEATER] A9 -qYTE

(b) %% HWH-HYIH FHHaaTET #

(c) %& wHEATETE HHTA -~
fd]ﬁfﬁﬂm-wmﬂﬁﬁ?ﬂ#

fr=ferfiaa 2oft © X %1 5@ = g0 2 4
1,123 5 8 %21

(a) 12 (b) 13
(c) 14 (d) 15
Tl e, F 14-16 FAad, 2020 B TR B,
% yea fama Prefafaa & 8 FF-w0 9 7
(b) FEweta 7@
[c}ﬁﬁﬂﬁﬂﬁﬁm
(d) Fwir § &
5= 43 % |




tindj
Ea!‘]\agﬂi;?hm isﬂn O Win the Worlq Rapid Chess
¢) Tania Sa ;:.;ET ES} Judit Po|ger
53 A one of the above
ccording to ‘g
ustaj
India Index tainable Development Goal (SDG)

(d) Kerala

54, Indian Navy has launche

January, 2020, in which of t
(@) Sri Lanka
(€) Madagascar

d ‘Operation Vanila’ in
he following countries ?
(b) Maldives

(d) Oman

55.  Which of the following countries took over the

charge of President of G- '
I Decetibar 3610 5 20 countries from Japan

(a) Russia
(c) Saudi Arabia

(b) China
(d) Brazil

36. Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List — | List - ||
(Power Plant) (Type of Energy)
A. Chamera 1. Atomic power
B. Gwal Pahari 2. Thermal power
C. Kudankulam 3. Hydro power
D. Patratu 4. Solar power
Codes :
A B & D
@) 1 2 3 4
(b) 2 4 3 1
(c) 4 3 2 1
(d) 3 4 1 2

57. Given below are two statements, one |abelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : According to Geological Survey of
India the total reserve of all grade coal in India is
293.50 billion tonnes.

Reason (R) : More than half of total proved reserve
of coal of the country is found in two States -
Jharkhandand Odisha.

Choose the correct answer from the codes given

below :

Codes : :
(a) Both (A) and (R) are true and (R) is the correct

explanation of (A) |
{ h (A) and (R) are true but (R) is not correct

explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

=P

23,

54.

55.

56.

57.

BESQO - 14
BrE }h?:, WS ufernfien sy anh T W
':a} FhiE #Fo (b) _’!__h_ﬂ '-:iTT-T]T by

(€) aian Frada (d) 3901 3 3 3

AR s UG R G R 0 e (uw
S gusw, 2019’ % HAET H -1y U?qt -~
TR ?

(a) 39 wem
(c) FrEvs

LR
Y T
(b) famm
(d) &=
Freferfiga 3 & forg 291 # sy 2020
A IR AT ey

(b) W
(d) Hmm

ﬁn%%a%&ﬁﬁﬁﬁm%mﬁ%ﬁZﬂw“ 203
IR AYHE H I R 7 H

3 W iy

(a) #H (b) =
(¢) T=a 3" (d) #mte
T — | g — 1R gRfTE Fif a afg 3 o
fed ™ $z | T 3w w1 T Fifw Lk
et - | T~ i
(Fa wm) (St & wem)
A. =T 1. e T
B. =& vETE 2. Ay Tt
C. FEHFAH 3. Vet Fa
D. T 4, € =
%2 ;
A B C D
(a) 1 2 3 4
) 2 4 3 1
(c) 4 3 2 1
@ '3 %Y 9

A1 ¢ e fau T, v 9w (A) S g S )

HEl T R | j

HA (A) : Wt i wde & i | wft #ife

% FIIA F TA BN zga.sua;?;%l

T (R) : §01 % HIAS F Het THIOE. WS F A

FHite @ U9l - wEve wE it § o e R |

1= fau ™ %2 | v I 1 97 fifaw

Fe

(a) {Alagz (R) 2 & & 3 (R), (A) Ft 7 =weA
Hdl

(b) (A) 3R (R) 2Fi weg & W (R), (A) A & =&
T = B

(c) (A)wed & 9 (R) Teret &

(d) (A) 7@ R Wi (R) &8 R




=t

60.

61.

6.

Match List — |
; _ With | ist I
hswer from the code: ANd select the . Ofre
List — | - A |.11'-'"I*.. below the | :,T_. J' 2 SR
I:Tril:ut_-g} List— |1
fal Jarawas [Lntaﬁﬂn]
B. Kukkis : Uttar Pradesh
. Th-':"t_la. ) Mm:“'”'p"-:l Pradesh
D, Ej[}ndS 3. Mﬁﬂil}ur
Codes : 4. Andaman and Nicobar
A B C
D

Lﬂ 2 3 1 4q

; 3 4 ) 1

':.'d} 1 2 3 a

With refe

SFtha fG”fEm.:E to the urbanization In India, which 59.

OWIng statement(s) is/are correct ?

1 Acﬂmrdmg o the 2011 census more than
EDz_ﬁ of _tc:tal urban population of the country
resides in category 1 cities.

2. Therewere 53 urban agglomerations with million
plus population each in 2011 in the country.

Select the correct answer from the codes given below :

Codes ;

(a) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

Match List — | with List — Il and select the correct | 60.

answer from the codes given below the lists :
List — | List =1l

(Biosphere Reserve) (States of India)
A. Nokrek 1. Assam
B. Manas 2. Kerala
C. Similipal 3. Meghalaya
D. Agasthyamalai 4. Odisha
Codes :
A B C D

(a) 3 4 2 1

] 4 2 . i ue

() 3, & S SARE

(d) 2 3 4

: : ks 61.
: ing States of !ndgla ran
Which one of tI-“::fﬁ;.lImlu_'fl:aut%at:un and third in terms
second in terms O Pﬂg
of apea (2011 census) b) Madhya Pradesh
Uttar Pradesh (d) Maharashtra
(c) Andhra pradesh 5
. ctates of India has the | 5%
Which of the fOROW P id (06 years) per 100
highest number of male chl .
| child as per 2011 censts
girl c (b) punjab I
' a
(a) Bihar (d) West Beng
(c) ryana A1-

BESO - 19

Jo

: wl' ol j I Hies ¥

n;—rh -1 hnfl..

(e T 1 qm,_ \
A. I|u':IJI'f]'nr:-J"f?'l:'p
B, =hH ey

Qe <. WO wEy

D, m= : iﬁﬁ;
& 4. WU v Bt

A B C

a) 2 3 1 E{

(b) 4 3 1 2

c) 3 4 2 |

d) 1 2 3 4

1. 2011 %1 FHVRI % e I R 9 i e
w1 60% ¥ ﬂﬁmnﬂm o7 % F7 A Fam i |
2.2011% <91 A 109 & fim Fwea s 53 am

q5el Y |

[ A
(a) ¥ 1 1B 2
(c) 194 2 3Mi Bl
gl — | B gt - || gufera Hif gen ghat 9@
fed 78 2 B wh I w A
-@"I w_"
(-t ) (v7vee 5 1)
A. i 1. 3@W
B. HFH S A
C. fafiferre 3, HETEE
D. FTHHEE PR
F:
A B c P
(a) 3 4 Al
(b) 4 2 Fona il
€ 3 1 4 2
dy 2 3 4 1 .
Sffias TR A A 2 e H g E R
;ﬁgﬁﬂqﬁﬁWM(HHMﬂT
(b) WeA T2
{a]mﬁi’ﬂ .
[c}mﬂﬁfﬂ (d) #ERI% Y
¥ frfafs
| & FAAT & FFER WA B e
fﬁnémﬁuﬁrlwm:ﬁf{nﬁﬂi}ﬂ
Tl il g 2 ?h e
el :ﬂ;qﬁwﬁm
(c) BfEm




Atmospheric tem

(b) Mospheric hy
th (a) and (b)

(d) None of (3a) and (b)

Perature only
midity only

84.  Which
, of the ' :
micronutrent L?;lncguf}ing elements is NOT 2

(a) Iron
(b) Manganese
(c) Pper (d) Magnesium

65. Which of the followin
abuu‘{ haemoglobin ?
(a) Itis red coloured

)
E{EUPS the carrier of oxygen from lungs to the cells

B statements is NOT correct

IS slightly acidic
d) It carries carbon dioxide away from the tissues
to the lungs

66. fﬂﬂeasu rement of glycosylated hemoglobin (H bAlc)

In the blood is useful for the management of
(a) Anaemia

(b) Hemophilia

{ iabetes mellitus

(d) High blood pressure

67.  Which of the following duties have been prescribed
by the Indian Constitution as Fundamental Duties ?
1. To defend the country '
2. To pay income tax
3. To preserve the rich heritage of our
Composite culture

4. To safeguard the public property
>elect the correct answer using the codes given below :
Codes :

(@) 1and 2 (b) 2and4
(c) 1,2 and 4 \{):u/ljandd

68. Given below are two statements, one labelled as
Assertion (A) and the other as Reason (R) :
Assertion (A) : The Council of Ministers in India
Is jointly accountable before Lok Sabha and
Rajya Sabha.

Reason (R) : Members of both Lok Sabha and
Rajya Sabha are eligible to become Ministers in
Union Government.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d)AA) is false but (R) is true

. -12-

B4,

65.

b6,

b7.

68.

TR 6t 998 8 Seq (qa TE) TR T D s o
wil " BT i
(a) =& M@= F J19 w

(b) e FramE € 9 @
(c) (a) 3R (b) 2Fi m
(d) (a) 3 (b) fareft gz 7

MHfefed # & SH-91 703 d 4 & Grya

: TR
(a) 3@ (b) s -
(c) HI (d) Hwfifirm
BT F weay § frefifeg 6 & B -H1 o 1
TR 7 L

(a) 9% &=t 1 1 BAT B

{b]ﬂﬁ%ﬁﬁiﬁﬁﬁﬂﬁﬁﬂ@ﬂﬂ%ﬂm#%
(¢) 7& 3% scfiy g i
{d}ﬂgmﬁmﬁﬂéﬂéﬁﬁmsﬁr@mﬂ

T H TelgeRieies EEraa (HbA1e) #1 s i
q ¥ e e % fere amvers 2 ¢ |
(a) 1&gl

(b) Emifthfera

(c) memE

(d) 359 &9 9

ﬂnﬂa#ﬁﬂumﬁh%ﬁﬁﬁﬁ%nﬁaﬁ%
el ® w9 4 fuffa frar mr g o

1. &9 i 87 F

2, HAGHT Hgl AT

3. &l Hrifhe wehly 1 TRETeR TR 5
4. "t weafa 1 gean s

:ﬁ%ﬁﬁnﬁ%‘gﬁﬂiﬁﬁ'{ﬁmﬁmz
@:

(a) 13 2 (b) 23 4
(c) 1,2 3 4 (d) 1,33 4

e Q1 w2 &, Forl o 9 e (A) T g s R

ETIRID) - |

®UA (A) : wa @ 5l wfteg w590 w9 3 e sh

TH81, gHT & wfa Ieter § |

®AU (R) : AT AR US98 o % Hem o

A H 5t 9 e s

At fed TR g | T I F 95w B

e '

(a) (A) 3 (R) 2 =& & 3K (R), (A) ot =z &

(b) (A) 3t (R) i & & weg (R), (A) F v =
TE ?

(c) (A) &4 & fog (R) Trerar 2

(d) (A) Teid B fheg (R) =t 2




(LI
Sy
76, fx= 2+
1% +2 % rthE‘ﬁthE‘dﬁlUEﬂf!a—Exz +6xis
(a) 2 (b) 1
(c) 4 (d) 3
77, Tw
miﬁ:;"g;‘:; :ﬂ_-Et l’?;:::lirfc:lg tI::ff ; Circle intersect at a
15 sctial to T ZPAC=50° then ~/PDB
(a) 90° (b) 130°
o2
(c) 50 (d) None of the above
78. If the H.C.Iﬁ and LE.M. of two numbers are 21 ;'md
84 respectively and the ratio of numbersis1:4 then
the larger number in these two numbers will be
(a) 108 (bY 84
(c) 48 (d) 36
/9. Which State of India ranked )
Governance Index : - 't-DF:'m \1e Sood
country in lEiu:]'-,.f:-jr i;;filgphblg SEESSEIOU IRt
(a) Kerala (b) Tamil Nadu
i) Maharashtra id) Andhra Pradesh
80. rﬂv‘ilgg:rslgr:gizpct taxes are termed regressive taxing
(@) They are charged at higher rate than direct taxes
(b) They are charged the same rates for all income
groups
(c] They are not charged the same for all income
Broups
(d) None of these
81. India aims to achieve the 5 trillion dollar economy
target by
(a)) 2022 A. D. (b) 2024 A.D.
(c) 2025 A. D. (d) 2026 A.D.
82. Which one of the following statements about Fifteenth

83.

Finance Commission is NOT correct ?

(a) Fifteenth Finance Commission was appointed by
the Government of India in November 27, 2017
(b) Sri N. K. Singh is its Chairman 1o, |
(c) The recommendations of the commission will
cover the five year period 2020-25 =
(d) The commission has been asked to submit its

report by October 30, 2020

Arrange the name of the following Pallava rulers
according to their reign in correct chronological order
and select the correct answer from the codes given
below :

1. Parmeshvaravarman |

2. Narsinghvarman |

3. Nandivarman |l

4. Mahendravarman |

Codes :

/6.

80.

8

(a) 4,2, 1,

3
(6)1,3.2,4

U g 1 ) Sftar AB e

81.

82.

uﬁ.’l'::l-ibz}f;i_z% Bl A3
(a) 2 b) 1
(c) 4 (d) 3

-—Ex2+ﬁxqqnﬁg‘_‘pn

CDEf.i F " fri'-? POT e
PDB W

(b) 130° )

(d) Iwds= 0 8 w5 3

8l 9 LPAC=50°. 7 ~

(a) 90°
(c) 50°

qfe, &1 HEA %1 58,9, 3 F.9.9. FA9: 21 v 84
# 3 HEmAt w1 I3 1 4 R, @ 54 S s o
q& HE w1
(a) 108
(c) 48

(b) 84
(d) 36

291 % W% U % wHg § i % e v 3 e 20194
HIEA H950h Ii ﬁ'f'[lﬁ I U &m 2

(c) wemr (d) A% wem

s 0 il S R e R 7
(a) ¥ weme 0 ) gern 0 wifus = w aw
(b) 3 ®fi A T W A9 = W A e
(c) A #ft Hr HEE W EWE T T e

-
i
(d) 350 & i &

a5 REfem gen f sdemmen & s 1w o
AT A1 JTEal B 7

(a) 20223%. (b) 2024%.

(c) 2025%. (d) 20263%.

fFofatEs 4 8 =59-u1 w91 =25 fam amam & e

Hud T8 R 7
(3) W@ HTEHR g0 T e am & e
27 7y, 2017 % o

(b) *ft . . for & g #
(c) 3w $ FFwEd 202025 F 1= 79 A @Y F
fore &t

(d) SN B 30 FEFR, 2020 T HH WA T

F % foIu e T R
ffafEa oo STEERT T 79 I TR
: mg@%mﬁamm fed

uﬁ@ﬂaﬂmmmﬁm:

1. qravETEdA |

2. e |

3, Af==d |l

4, WA |

%2 5
i (b) 4.3, 2

{{:; i i 2,4 (d) 3,214




(Qu
A, Chann‘ragupta gl

1. ‘
: Sarnudragupta 2 Eﬁiartw
C. Chandraguptall o Kurnaradgeaui
D. Kumargupt; | 4. Anantdey;
Codes .
A B C D
(@) 3 1 2 4
(b) 2 1 3 4
(c) 1 i e
(d) 4 3 2 1

[Newspaper] {Founder]
(a) Al-Hilal Maulana Apy|
Kalam Azad
(b) New India

= Annie Besant
=~ Muhammad Ali Jinnah

— Raja Ram Mohan Roy
86. Match List — | with List —

answer from the codes given below the lists :

(c) Tahzeeb~ul~Akhlaq
(d) Samvad Kaumudi

and select the correct

List — | List -1
A. Taj-ul-Masir 1. Ziauddin Barani
B. Khazain-ul-Futyh 2. Hasan Nizami
C. Tarikh-e- 3. Amir Khusro
Mubarakashahi
D, Fatwa-a-Jahandar;i 4. Yahia bin Ahmad
Sarhindi
Codes :
A B C D
(a) 2 3 4 1
{h)i. 2 4 1 3
(c) 2 1 4 3
(d) 1 3 4 2

87. Match List - | with List - Il and select thule correct
answer from the codes given below the lists :

List — | List =i o
A. Andrew Frazer 1. Famine Commission
acDonell 2. Irrigation
B Commission

C. Calin Scott Moncrieff 3. Pn_lice Cummis_sir._mn
D' Thomas Robertson 4. Railway Commissio

Codes A < c o
A P g,
AR Bl
(c) 1 3 5
@ 1 3 4

-15-

o B
Tt~ | R B WHa»
(v Sl

A, Ty 1 WET“T]
B. Fazey " S
é;%m 4. T

A
LR R
(b) 2 1 C
(€) 1 2, WD L i
(d) 4 N 1

85. ﬁqﬁ%ﬂﬂ@ﬁ?-mmmﬁqﬂﬁ?
(FoTam o) (TeTT)

(a) ¥91-femme =~ WY
(b) = 3feen - ?T:\'ﬁzm
€) TEf-Te-ameers HTER. 37t
(d) &g B = TS T
86. st - )= — 18 gitfe T = F A9 By
nﬁﬁﬂﬂ%ﬁmmmﬁﬁﬁ?; .
qeft - | =i
A. TS i 1. ﬁgﬂ.ﬁqw
B. WuTEA-371-%ag 2. w9 Framh
C. arfrg-u- 3. i gl
D. HeT-u-waram 4. Ffeen fam
ez wifge
%
& BIJE "D
@S2 3 L4
(B 2e 41 3
LIS Y S
@ 1 3 4
87 e — 1t 11 ghfere v o 1 o
¥ el I H1 w7 Ao
- | Tt - I
B. e Fwdne 2. fomr wmm
C. B Wiz Tshs 3. Sﬁlﬂ;ﬁ:
D. MM TaEEA 4. TR 3
E: A B C D
4
@ 3 12
) 3 2
g 1 Spede
CI S



10,

_ Carpenter A makes 1 chair

72.

/3.

75.

Arrange the following Committee

in chrunuiugical order and select
from the codes given below
1. Rao Committee

2. L. M, singhvi Committee

30N Panchayat; Raj
the correcy answer

3. BiR Mehta Committee
4. Ashok Mehta Committee

Codes -

(@) 2,3,1,4 (b) 1,3,4 >
(€) 3,4, 1 2 (d) 4,3 2 1
Wh

ich Part ofthe Constitution of Ind
financial relations betwe
(a) Part X

(c) Part X1

la describes the

€n Lentre and States ?
Part XI

(d) Part X1

In 6 hours, Carpenter B

makes 1 chair in 7 hours and Carpenter C makes

1 chairin 8 hours. If each Ca

rpenter works 8 hours per
day, how many chairs will be made in 21 days ?
(a) 64 (b) 69
(c) 73 (d) 78

Fill in the blank using one of the correct options
given below.

BCDF : GHIK : : LMNP :

(a) QRST (b) QRTS
{i})I{HSU (d) QRSV

If the Republic Day of India in 1980 fa{l on Saturday,
X" was bornon March 3, 1980 and ‘Y'is 4 l.:ia*fs:.:ider
to X/, then what will be the day of “Y’s birth ?

* Thursday
a) Wednesday (
[{c] Friday (d) None of these

Which one of the following nun_:ber can be placed
at the sign of interrogation (7?)

11 61 _
30 32 \ &
? 43
- (b) 27
f{i; = (d) 37

fBis
HESCRIZES S (b) 33 years

(a) 31 years

(c) 34 years (d) S3YeaR
c

70.

71.

72.

/3.

74,

BESO - 19
R I G e e (B —— ) = i —
afeerg i N -,*.‘1:_; L; 1?2;:4;2; ;:i'“l” :
:Eﬁ._ﬂ: | A | . 3 qi -'
1. 1 wigfy !
2, UA, un, T afify
3. W, JW, Bean "t
4. I Hray wfts
oA
@) 2,3,1 1 \b) 1,3,4,2
(c) 3,4,1 9 \d) 4,3,2,1

_ hmwﬁmm#mhﬁrﬂq
He 1 R g e 2

(a) ¥ 10
(c) ¥m 12

ATg¢ 69vet § uF Hef wn B, B 583 79w 4
U FHH] T & vy Cagd 8uvel # v Heff wmay 2
7 Wl wgd wfafen 8 9V HH HAT B, 7 21 et 5
o wffal w5 7

(a) 64 (b) 69

(c) 73 (d) 78

9 fed ma freedt 3§ & o o frwes = im0
BCDF : GHIK ; : LMNP :

(a) QRST (b) QRTS

g ¥Ed &1 iy fem afEm S trg‘en
gﬁ‘i‘gi? AN 3 9=, 1980 ®t EE1 R, Y, X' H
4 fwm &, at Y F R A 7
(a) q9am {blwmqﬁ
(c) IHAR (d) T

frafaftas & | |9-d ge vEE (7) S ®™|E W
&t =R, 7
s1 | 11 | sl
64 30 32
! ? 43
j.1?5 (b) 27 & \
(a) i 4
(c) 32 (d) &
75. Sad @ A HN 8% 3 F FAYE 4: 59 W AH
| aﬁnﬁngaﬁ.ﬁaﬂaﬁmmi
a) 31 (b) 33 ad
[fu:] 34 7 (d) 35 %%




88. Given below are

89.

90.

91

"

N

Assertion (A) and

| Ya Samaj Movement gave
self-confidence and self-reliance to the Hindus.

Reason (R): The Arya Samaj Movement undermined
the belief in superiority of White Race.
Choose the correc
below

Codef:
(a th (A) and (R) are true and (R) is the

correct explanation of (A)

(b) Beth (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

t answer from the codes givén

With reference to Lala Lajpat Rai which of the
following Statements Is/are correct ?

1. Atfirst he was not in favour of the policy of

Non-cooperation but later he joined in favour
with Gandhi.

2. Lala Lajpat Rai also participated in the
formation of Swaraj Party:.

Select the correct answer from the codes given below :
Codes :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the annexation of the following States
under ‘Doctrine of Lapse’ and arrange them into
chronological order :

1. Satara 2. Jhansi

3. Baghat 4. Udaipur

Select the correct answer from the codes given below :

Codes :
(@) 1,4,3, 2 (b) 3,1,2,4
(c)\1, 3, 4, 2 (d) 2,4,1,3

Which of the following organisations approves the Eair
and Remunerative Price (F.R.P.) of the sugar cane :

(a) Cabinet Committee on Economic Affairs
(b) Commission for Agricultural Costs and Prices
(c) Directorate of Marketing and Inspection,

Ministry of Agriculture |
(d) Agricultural Produce Market Committee

89. T TG TH % wew ¥ Frferfam # &

%<

(a) (A) 3 (R) QT & & i (R), (A) ) W sy
ST 8

(b) (A) 3T (R) Wi et & g (R), (A) ) W) sy
TEl LT B

(c) (A) &ea B 9 (R) Teta R

(d) (A) Terd @ 9% (R) Tt 2

HH-T1/Q FYU7 98 B/8 7

1. WO | 9 rEEE Hifd & ug A 1E A, o aw
SRR SR ol

2. TS 9T % TS § A A T o it wy

= f@ ™ %2 & T I w1 w77 v .

He :

(a) ae 1

(b) wae 2

(c) 13 2

(dysdq1a & 2

90. ‘faer &1 faga’ & dga F=faRes =t & e w

ferem #ifie 3i 32 rerEEER e fift
1. §aW 2. 9

3. §H 4. 3T

49 3 ™ %2 @ g I = == Hifve
31,4, 3,2 (b) 3,1,2,4

() 1,3,4,2 (d) 2,4,1,3

91. T % 3fua 3t sl g7 (FR.P) Fr=faRea # @
-1 §13A AT T 8 ?
(a) aTfies Amet i hfee




"-_"'l-"hu:-h of the following State is NOTI
tates on the Sustainable Develop
019-20 in India ?

(a) Gujarat

(c) Andhra Pradesh

nthe list of top five
ment Goals Index

(b) Himachal Pradesh
Aok Tamil Nady

Consider the following Credit Ratin

B AEencies ;
dfrange them | i

N chronological order :

1. CARE
2. ICRA
3. CRISIL
ielett the correct answer from the codes given below -
0 :
(@3, 2, 1 (b) 3,12
(€) 1,2,3 (d) 1,3 2
The recent amalgamation of public sector banks in
India is aimed at multiple gains.
1. Economies of scale
2. Improved access to capital
3. Covering larger EBeographical areas
4. Banks of global size
Select the correct benefits using the codes given below
Codgs :
( and 2 only (b) 2and 3 only
(c) 1,2and 4 only (d) 1,2,3and4all
The Shatasahasri-Sambhita'is the nickname of which
of the following texts ?
(a) Rigveda (b) Atharvaveda
(c) Ramayana (d) Mahabharata
119. In which of the following metals the Karddamaka
Kshatrapas issued the very rare coins ?
(a) Copper (b) Silver
(c) Potin (d) Gold
120. Match List — | with List — Il and select the correct
answer from the codes given helmlz{ tthE IIlls’cs :
. List=1 o
hilosoph (Methods to achieve
(P Phy) saluai_:mnjf
Darshan 1. Acquisition o
L Ny?va real'’knowledge
B. Mimamsa Darshan g En?fwlfncgﬁz of self
arshan . Ferior
C. Sankhya D vedic ritu@lsi
D: Vedanta Darshan 4. Logical thinking
odes : '
o . 8 C D
(a) 4 i i
(/4 | 3
4,072 3
(d) 3

BESQ -~ 19
115 e

— e v
TR o 3 i

r-- TITt e
. Y T T ey
B 1B 5 :1-.:lr 0 5

(b)) fremarer o
{‘:”' 'ﬁcrv:.r.:_r;
a5 A1 e m hfez 155y Ttk c -
DIETEGHY i::*:f Er:fj;,&r??!q T R, e 5
1. CARE 2
2. ICRA
3. CRISIL
H= fF:IJM T C T = HEl T - e v |
L T4
@) 3,21 b
(€)1, 2,3 e
117. mrﬁﬂmﬁmmiﬁﬁ“ﬁmmﬁﬁm R
T HF T i & | i
1. R it et
2. it 7 v i)
3. JNE Wi a3 o famm
4. fovm wity sm % 4 .
Al ﬁﬁﬂﬁﬁﬁﬂﬁm?ﬁﬁ'@rﬁﬁﬁﬂﬂq%:
L T4
(a) et 1 3 2 (b) Faet 2 3 3
(c) #a7 1, 2 3t 4 (d) 1,2,3 3l amf
118. W-ﬁﬁmmﬁmﬁ#ﬁaﬂﬁﬁﬁmﬁﬂm%?
(a) e (b) e
{c) T (d) wemma
119. ara&mamﬁﬁﬁw%ﬁmﬁﬁﬁmmgﬁmﬁrgﬁn
foeh wafem fEa 7
(a) amwr - (b) =@
(c) T (d) =@
120. Heft — | =1 gl = 1 B wifer Hife 7o gt & A
ﬁﬁ"‘] w-"' b . e
(@) - (Witat TR A & )
A, =g eI 1. arAfas 79 ®
RfvarET
B, Hmrar & 2. A
C. & g 3. A sgeH w
D. ¥ 4. e fa
He: A L2 g
2 B \
{h} 4 3 2 3 i
(c) 1 4 1 2 J
(d 3 4 :
£ o
¥ -
> ,




109. Match List — | with List — Il and select the correct 109 4
answer from the codes given below the lists - = 7 | =t T~ |1 ® m T
List — | List — I ﬁf‘-ﬂ ™ 2 9 g T g‘jfm ﬁ&:’m
(Projects) (Rivers) et~ |
A. Ukai 1. Godavarj {qﬁﬁtﬁm]
B. Jayakawadi 2. Ambi A. I%E 4
C. Khadakwasla 3. Mutha B. Sawd >
D. Maurakshi 4. Tapi
3 Faura shi api C. WA 3
odes : D. =g a
A B C D % ;
(a) 4 1 2 3 A B
(b), 4 1 3 2 (a) 4 1 g g
(d) 3 8. ad? 1 (5 20 e
: (d) 3 4
110.  Match List — | with List — | and select th 2 1
answer from the codes given below the llsrer =" | 110: Tt =14 T 118 e A o a5
List — | List - 1| RALE TR -t by
(Coal field) L guft - | :
(Location) gt — )
A Malum 1. Assam (e ) (srafeerfa)
o ranenK 2. Arunachal Pradesh :' F,m ) e
. Girdih 3. Jharkhand : 2. R SeH
D. Sohagpur 4. Madhya Pradesh C s -, HaE
Codes : D. Hrermy 4, ooy g
A - L . e
(a) 1 2 % 3 - 2 - SRR ok
b) 1 @) L w20 3 g
[ 2P (b) 1
2 g 3
Sl 4 3 5 € 1 4 3
111. Two trains were running in the same direction at | 111. =2 temfsal ws € fam & og ol wfa =
90 km per hour and 70 km per hour respectively. The 70 ft ofr aver 4 ofy ¥ 5= T 4 N S Tt
faster train passed a man standing in the slower train in e 3 oy nfy aeft wd 1w o w
18 seconds. The length of the faster train is laﬂ%iﬂzﬁmﬁmﬁﬁaaaﬁ‘ﬂreﬁmﬁmt
(a) 80 metres (b) Y100 metres (a) 80 iex (b) 100wz
(c) 120 metres (d) 150 metres (c) 120 tftex (d) 150t
112. By selling an article at %nf selling price, a trader | 112. ﬁi@ﬁm@ﬁﬁaﬁlmﬁ; %m:i'a%r . Fehar 1 10%
Incurred a loss of 10%. The profit/loss percentage, H ol it Ak 38 g Rel gew v I @ ™ /AR
when it is sold at original selling price is %1 yfawa 7
(a) 20% loss (b) 120% profit (a) 20% =fA (b} 120% =™
(c) 32.5% loss (d),220% profit (c) 32.5% &3 (d) 20% &
- + : | 4 4 T 420
f compound interest T 420 is gained at rate of 5% | 113. 3If2 g@y" g 5% Wy ad & o | T
per anﬁum on a principal in second year, then what wwafe =19 foea 2, @ TEAuE fRa R 7
is tl}e priggipa' ganadnt ¢ b) ¥ 6,000 (a) ¥5,000 (b) % 6,000
(a) T5,0 { } : % 7,000 d) Z8,000
(c) 27,000 d) ¥ 8,000 (c) (d)
YR H
. nion Government | 114. faa a¥ 2019-20 ¥ fow ¥ wwR T TIHE
124, FfieRiiales2015 20the forh st e e Tt 7 o T B 7
aims to restrict the fiscal defic H89. 7 3350w (b) A, 0 3,050
. b) 3.0 percent of GNP (a) ALELHL. H 3. . |
(a) 3.3 percent of GDP (b) 3.0p et (c) A = 355w (d) HAR. F 3.0
(c) 3.5 percent of GDP (d) 3.0 percento '
-20-




ah
'ﬁlné
104, '&EEDF{HH

Fndlia In January, 2020, amon
Which of the following
(a) Raniganj

(€) Bajrang Nagar

. dian ciy

Is the most polluted ci::.rE:J
(b) Jharia |
(d) Sohagpur

Which of the foll

the three da? I

during December 11-13, 2019 ?
1. It was held at Katmandu,
2. It was dimed to have exp

more resilience to climat

ecological approach toe
of tropical small holding

Select the correct answer from

Fndes:
a) Oply 1 (b) Onl

y 2
E}}gth land 2 (d) Neither 1 nor 2

Match List — | with List - || a
= Il and select th
answer from the codes given below the f?stcxn:rect

List - | List - ||
(Cities) (Rivers)

A. Paris Para
Euay
B. Kinshasa Chao Phraya

C. Bangkok Zaire (Cango
D. Asuncion SEine{ =

Codes :

A B
(a) 4 1
(b) 3 4
(c) 4 3
(d 1 2

Which one of the following presents the correct North-
South sequence of the four major Islands of Japan ?

(a) Shikoku, Kyushu, Hokkaido, Honshu
(b) Honshu, Hokkaido, Shikoku, Kyushu
(c) Hokkaido, Honshu, Kyushu, Shikoku
(d) Hokkaido, Honshu, Shikoku, Kyushu

Nepal,

erience sharing for
e change through
farming systems.

the codes given below :

PwnR

WNRENM
PR NWO

107.

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R). Choose
the correct answer from the codes given below :

Assertion (A) : Most of the hot deserts of the.wurld
are lncateil cin the Western margins of continents
between 15° — 30° North and South latitudes.

Reason (R) : Trade winds lose their moisture and
humidity as it move westward.

{(;c},dﬂeét:h (A) and (R) are true and (R) is the correct

f(A
(b) E’;‘;’Lﬂ?ﬂ‘;’;ﬁ [(R]}are true but (R) is not the

orrect explanation of (A)
(c FA] is true but (R) Is false
{d; (A) Is false but (R) Is true

108.

104,

105,

106.

107.

108.

P S s o

Sl : 11-13

‘ o i T_'_:'_‘mm TR Hrind &

1, T Frmmre o B T b -
% T R A oy,

2. V9! T Tevn wfyfufiny
qﬁa&?%ﬁqﬁq ' AL

L T4
(a) *ae 1

b
(c) 13 23 (b) = 2

(d) I 1342

R
= bW
NWBE LD
W pd = b Y
BPEMNWD

ﬁﬂ%ﬁ!ﬂﬁﬁm-mmﬁimmﬁmm
(a) , 99, ,
{h}%,ﬁmﬁ,m

(c) B, v, W, e

(d) Br¥e, &y, Ry,

A 2 e fon T R, w W R (A) 3R gRUH = (R)
& &y | feay man R | A fw @ g2 | W6 I H A

i : .

. firge 3 e 39 EEEE 15°F 30" I @
R i 3 e e R R
T (R) : AT Tad - ot A i &

7 o 3iv angen # ot et € |

L | N
v (R) 2T G & 3K (R), (A) = =g

{{lﬂ ETJ W{(F]ll 2wt & 9 (R), (A)H T =
R

L
A) & 7 (R) T &
({32 Eaiw # weg (R) W @

: 4___-—



st —*II and select the correct
€S given below the |jsts .

List - ||

(Name of Authors) (Pen Names)

A. Suryakant Tri ‘

pathi 1. Munsh
B. Raghtisa . nshi Prem Chand
: Pati Sahay 2. Nagarjuna
U

List — |

. ‘giidyanath Mishra 3. Nirala
+ Uhanpat Raj 4. Firag Gorakhpuri

Srivastava
Codes :
A B
(@) 3 4 1[:f 5_’
(b) 3 2 1 4
(c) 3 4 2 1
(d) 3 2 4 1

100. Which of the followin
(a) Rhizobium

\{Lhd}/ﬂlue green algae
Azolla

(d) Vascular Arbuscular Mycorrhiza

g Is phosphatic bio-fertilizer ?

101. Which one of the following pairs is NOT correctly

matched ?

| [Sing,:r] (Style of singing)
(a) Rajan-Sajan Mishra - Dhrupad-Tappa
(b) Taz Begum —  Thumari-Tappa
(c) Badi Maina =  Thumari-Tappa
(d) Ambaji Chaturvedi - Dhrupad

102. With reference to Swachh Bharat Mission, which
of the following statement/s is/are correct ?

1. Swachh Bharat Mission focuses on the
collective behavioural change of the entire
community.

2. Open defecation for many is a part of regular
early morning walk, checking the crops and
socializing.

Select the correct answer from the codes given below :

Codes :
{a) Onily 1 (b) Only 2
Q:w:th 1and 2 (d) Neither 1 nor 2

103. With reference to Greece, which of the following

statement/s is/are correct ?
1. Greece elected Katerina Sakellaropoulou

as first woman President in the Country’s

history.
7 I(aterﬁa is the first President who does not

belong to any political party. :
Select the correct answer from the codes given below :

Codes
h]ﬂmzl
(c) Both 1 and 2

b) Only 2
:d; Neither 1 nor 2

99. W-:ﬁqﬁhlrﬁgﬁ%%ww?ﬁ%ﬁa

100.

101.

102.

103,

et~ | ..
() ol

A. iR 1. 9t Y
B. Tf wEr 2.
C. ey fiy 3. Fren

D. 997 T framem 4. THUF i
o e
(a)

(b)

(c)
(d)

ﬁw%ﬁaaﬁﬁﬁq-mm‘@?&mﬁanm‘% 7
(a) Tgfeam

(b) e &ftm dare

(c) e

(d) ¥pew IMgEpER HFHRTTAT

ﬁmﬁfﬁaw&ﬂaﬁ?—maﬁgﬂﬁﬁqﬂ??

wwwwp
N OB N OB D
= Bt e
ol R - S

(e ) (T et /foen )
(a) ToH-HT fo - Y9g-Zo
(b) ar-amR - -z
(c) w%t B - gHl-To
(d) Jreamel! sqad) - 47

== WA i % g § el 8 @ #-aa

YT T B/E 7

1. = wra fave wepf & wHfEw swEEn
ftad W HfZa R | = ‘

2. A AT % forg et o vive e, 3w Paf
ATA:FHTA FHOI, BHA 6l @I aYT ST F
femr 2

fi4 fgd M %2 @ 9 37 =1 v fif

F2:

(a) ¥ (b) % 2

(c) 13k 2 3 (d) Am17#2

1irm % wad B Pl et § & /A w2/ 7

1. 7@ 3 et arbee #1 30 % s | v
Afgen wegafa g 2 |

2, ¥t weeh Tt &, o foredt olifes @ A
grafia 78 2 | |

A9 fed T e & HA I H T
2 :

(a) ¥ 1 (b) % 2

() 131 226 @) AR 178 2




